ANNEXURE- I-B
MAHARASHTRA UNIVERSITY OF HEALTH SCIENCES, NASHIK

Name of College/Institute: Maharashtra Institute of Medical Sciences & Research
(Medical College & Hospital), Latur.

Intake Capacity: 150 Recognized/Permitted: Recognized If permitted, Stage of renewal: --

TOTAL (APPROVED + NOT APPROVED) TEACHING STAFF AVAILABLE:

Professor Associate Assistant Professor Senior Tutor /JR

Departments Professor Resident

R |TA| D R TA | D R TA D R [TA| D R TA D
Anatomy 1 3 |- |2 2 |- |3 - 1 5 5
Physiology 1 3 |- |2 2 |- |2 1 - 4 4
Biochemistry 1 2 - |2 1 - |2 3 - 4 4
Pharmacology 1 1 = 2 3 = 3 1 1 4 4
Pathology 1 3 - |4 2 - |4 5 - 5+1 | 7+1
Microbiology 1 3 - |2 1 - 13 1 1 4 5
Forensic Medicine 1 3 - 1 0 - 1 0 - 3 3
Community 1 4 - 2 2 - | 4+1 1+1 - 4+1 | 4
Medicine
Gen. Medicine 1 3 - |5 3 - 19 9 - 5 4 |1 10 | 12 -
Pediatrics 1 1 - 3 2 1 |5 5 - 3 1 6 12 -
D.V.L. 1 1 - 1 - | 1 3 - 1 1 - 2 12 -
Psychiatry 1 1 - |1 - 1 |1 - 1 1 1 - 1 1 -
Gen. Surgery 1 5 |- |5 1 |- |9 6 3 5 S| -110 115 -
Orthopedics 1 3 |- |3 2 |- |5 4 - 3 1 12] 6 9 -
ENT 1 2 - 2 1 - |3 1 2 1 1 - 2 3 -
Ophthalmology 1 1 - |2 2 |- |3 2 1 1 1| - 2 9 -
OBGY 1 3 - |4 3 - |7 3 2 3 4 | - 6 12 -
Anesthesia 1 3 - |4 2 - |6 3 - 4 3 1 6 12 -
Radio-diagnosis 1 3 |- |2 1 |- |3 1 1 3 2 |1 - 6 -
Dentistry MIDSR Dental College in Same Campus
Emergency
Medicine
Total 19 |48 [0 | 47 30 (3 |71 50 13 (31 |24 |7 |77 126 | -

R = Required, TA=Total Available, D=Deficiency.

¢ Requirement is to be calculated as per MCI/NMC norms as the case may be, and considering the stage of
renewal.

e Staff requirement should also include requirement for any running PG course in the institute.

e Extra teacher on higher post can compensate deficiency of teacher on lower post in same department.

o Deficiency of SR cannot be compensated by extra teacher.

Deficiency in faculty % = (Total deficiency of faculty) * 100/ (Total Required faculty) =

Available total faculty % = 100 — Deficiency % = 92 %

(Faculty includes Professors, Associate Professors and Assistant Professors)

Deficiency in residents and tutors % = (Total deficiency of residents and tutors) * 100/ (Total Required r;';dents and

tutors) =
Available residents and tutors % = 100 — Deficiency % =
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